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Note :

1. This question paper has 100 questions. Each question carries 2 marks.

2. Read carefully instructions regarding method of answering questions given on the last
page and indicate your answers on the Answer-Sheet provided.

3. Use of any type of calculator or log table and Mobile Phone is prohibited.
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1 -5 faw; For question from 1 — 5.
e I T WA T § 100 BE1 & % Study the table of 100 students based on
g 8 i3 2, s M A HT S S | the marks by them in physics and chemistry,
answer the questions.
3t 50 J
N 403&’303&)203&’103&’03& [ [ ( ( [
IER | e | R | Iew | IEe 40 and |30 and |20 and |10 and |0 and
arfires | arfires | atfires | strfdres |orfires Above | Above | Above | Above | Above
aall
ifees
9 32 80 92 | 100 9 32 80 92 100
R
A : Chemistry|l 4 21 66 81 100
4 21 66 81 | 100
RR
Eoarsed - 27 23 a7 100 Average 7 27 73 87 100
1. 319d 40% 8 &7 37k I & 9 B 1.. The number of students scoring less
a) 13 than 40% marks in average is
a) 13
b) 19
b) 19
c) 20 c) 20
3)/27 ‘ d) 27
e) 378 ¥ I3 T8l e) None of these
%sﬁﬁm I § 60% % I=9 s g 2. If at least 60% marks in physics are
sTavaE &, fray o1 fifas yre A 3= required for pursuing higher studies in
. hysics, how many student will be
e 3 o & 7 sy
&ﬂ%ﬁ g eligible to pursue higher studies in
a) 27 physics ?
b) 32
c) 34
c) 34
g d) 41
e) 37 ¥ I3 T e) None of these
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3. B e | fohdar = ?, S 30 9% 3.

3 ¥ WA e J 3l g 8 S
30 3ftgd 9 3kl gd @ 7

a) 3

b) 4

c) b

d) 6

e) 9 | &g &l

4. BT 6 g fFas ufava R 3 =9 4 5 4.

60% i TETIT I H TS 3 & 279
398 Y 1T 40% U L ¢ |

a) 21%
b) 27%
c) 29%
d) 31%
e) T4 | hig Jal

ﬁmwﬁﬁ@mﬂ%gzsmﬁm 5.

2 | a9 WA e U e of s
# arean &g e wa § 26

a) 40 — 50

,B)/30—40

c) 20 -30

d) 20 & %4

e) 378 ¥ IS

6. Rm2afF y = x2 + 6x + 15, y &1 =AaH 6.

HH
a) 102
b) 122
c) 152
d) Fruffa =& forar s gsan
e) T ¥ &g &l

What is the difference between
number of students passed with 30 as
cut-off marks in chemistry and those
passed with 30 as cut-off marks in
average ?

a) 3
b) 4
c) 5
d) 6
e) None of these

The percentage of number of
students getting at least 60% marks
in chemistry over those getting at
least 40% marks in average

a 21%
b) 27%
c) 29%
d) 31%
e) None of these

23 Students were eligible for a
symposium in chemistry the
minimum qualifying marks in
chemistry for eligible for symposiums
would be in the range

a) 40-50

b) 30 - 40

c) 20-30

d) Below 20

e) None of these

Given that y = x2 + 6x + 15 minimum
value of y

a) is 10

b) is 12

c) is 15

d) Can not be determined
e) None of these
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[ A% wH R fogqw deTm 2 7. The missing number in place of A is

5| 2
4

5| 2
4| 4
2| 5
18 | 30

N

Plw|N| s

N
)
Plw| N &

a) 42
b) 43
c) 32
d) 33
e) None of these

8. Correct option for X is

a) 10
b) 15
c) 32
d) 12 d) 12
e) ¥4 ¥ i3 & e) None of these
9. 3% 2001 # fFE-fra arfi@ =1 guar 9. On what dates in April 2001, did
q1 7 Wednesday fall ?
a) U, A3, =58, 9139, I« a) 15t gth 15th 2ond ogth
b) 1, A, Hiewg, a%9, I b) 2nd, gth, 1gth, 23rd, 3pth
C) WX, W&, A3NE, T=={ c) 4th, 11th, 1gth, 25t
d) &, <5, u=E, =Neg d) 319, 10th, 17th, 24th
e) I H | HIS J&l e) None of the above

CGP-17-02# Page No. 6 Set-D



;The Vision

O A O
307 R e fo gt o v Rt 2 2

£

12 R rsHia @R d €
6 5

99 2 Hi= 2, hd = ot g Enft 2
a) 1
b) 3
c) 4
d) 6
e) 3T H ¥ IS

10. How many triangles are there in the
figures given below ?

/\

a) 5
b) 6
c) 8
d) 10
e) None of the above

11. The value of X in the following figure is

(s £
(e1) (&)
(8)

a) 2031
b) 731
c) 1625

d) 1
e) None of the above

12. Two position of a block are shown below :
6 5

2 1

When 2 is at the bottom, which
number will be at the top ?

a) 1

b) 3

c) 4

d) 6

e) None of the above
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T 138 17 & o .

fidwr ; fefifad A § @, ©, §, % w0 #
gt forg & &9 ° gam e e #) s o
CI=

“ASB w34 ?; A B e TE B

“A OB ® A4 R; A, BRI IS IRA TSI
“A@B #HAIR ABAIABIRTE, A
ST 2|

“A# B Fad ?; A BY T A B

“A%BB FIAR; ABIAINTIE, 7
S 2

o9 YdF g 8, a1 6 & man sugaea R

1 374 Shrfsro fos =7 Freed | g I3 8 ==

9o ¥4 § T 2/2, d5gE9 I Q1N |

}S/Ezr-r—

KOP, P@Q. O%R

fased |

4 K@R

JHR%P

JK Q%K

a) 9 IS NEHI R

b) Faa g N EeT

c) FIA Il TF B
i g 2

e) 378 & HIS el

14. HRIA
DOK, K#F, F@P
ey
L P@D
Il. K#P
. F$D
a) 9 | g 8
b) Fad Il GI 8
c) FaA Il T B
d) Fadll g g &
e) 3H 9 i &

For Questions 13t0 17 :

Directions : In the following question, the
symbols @, ©, $, % and # are used with the
following meanings as illustrated below :

“A $ B” means ‘A is not smaller than B’;
“A © B” means ‘A is neither smaller than
nor greater than B’;

“A @ B” means ‘A is neither smaller than
nor equal to B’ ;

“A # B” means ‘A is not greater than B’ ;
“A % B” means ‘A is neither greater than
nor equal to B’.

Now, in each of the following questions,
assuming the given statements to be true,
find which of the three conclusions |, Il and
lil given below them is/are definitely true
and give answer accordingly.

13. Statements:
KorP, P@Q, Q$R
Conclusions :
L K@R
. R%P
. Q%K
a)»Onty l'and il are true
b) Only Il and Il are true
c) Only Hlis true
d) All are true
e) None of these

14. Statements:
DOK, K#F, F@P

Conclusions :
.l P@D
. K#P
. F$D
a) Only |l is true
b) Only il is true
c) Only lllis true
d) Only Il and Ill are true

e) None of these
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15. <heYA .
M@D, D@V, V$W
e
. WeM
N M%V
m D$W
a) aet |l @ Hl =7 3
b) Faet |l §I B
c) Fact iliga
d) e | qE R
e) 9H | &g T

16. YA .
M@J,J$T, TON
e .

L N#J

. T%M

. M@N

a) HTdA | T ®

b) aet | 99T || g &
c) asfi g &

d) ®aa Il gE |l g 8
e) g8 § &g &

17. <heYA

H%J, J ©N, N @R
=d .

. R%J

. He@J

. N@ H

a) Faa g Il g &
VEESIERIE: O
c) FaAll T NTAE
d) aft g §

e) 0 ¥ HI1s &

15.

16.

17,

Statements :
M@D, DOV, V§W
Conclusions :
LweM
. M%V
. D$W

a) Only li and Il are true
b) Only ilis true

c) Oniy lllis true

d) Only | is true

e) None of these

Statements :
M@J,J ST, TON

Conclusions :
L N#J '
. T% M

. M@ N

a) Only lis true

b) Only | and Il are true
c) All are true

d) Only Il and Il are true
e) None of these

Statements :
H%J, JON, N@R
Conclusions :

L. R%J
hLHelJ
. N@H

a) Only!land Il are true

b) Only | and Il are true
c) Only il and lll are true
d) All are true

e) None of these

CGP-17-02#
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yAﬁ INK &1 s 91411 8 a1 RED 1
1S 1854 8, @1 PEN 1 %I €11

16514

c) 14562
d) 151614

e) Iuad H | HIg Tl

1 1 1 1

19. 22 33, 88/En.9° AU uTd S TE R

yﬂwaﬁ X, y 3 z &1 79 xy 2| a9
Z S AT

\@/Sxy—x——y
b) xy —x-y

C) Xy + X +Y
d) 3xy—(x-y)

e) Wi U & I T8

18. IfINK is coded as 91411 and RED is
coded as 1854, then PEN will be

coded as
a) 16514
b) 14176
c) 14562
d) 151614

e) None of the above

19. The greatest number amongst

1 T 1
22 33 88 and 9° is
1
a) 99
:
b) 88
1
c) 33
1
D=

e) None of the above

20. The average of three numbers X, y

and z is xy. Then z is equal to
a) 3xy—x-—y

b) xy—x-y

C) Xy + X+

d) 3xy—(x-vy)

e) None of the above

CGP-17-02 #
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21. TFH AR T 4 e 2 | wh A ® 3 <77 21. There are four hotels in a town. 3 men
BIeAT H I1d 8 | F Y, 37T - 7T Bl check into hotels in a day. In how
A fFraIdaEasTaFad & ? many ways all of them can check into
different hotels ?
a) 9
a) 9
B} 12 b) 12
c) 24 c) 24
d) 27 d) 27
e) 38 q IS e) None of these
22. TF IMEN # 53 ‘yHHAN I HH h 22. In how many ways a leap year can
FR s asad g 7 have 53 ‘Friday’ ?
a) 53 a) 53
b) 2 b) 2
c) 1 c) 1
d) 0 d) 0
e) 38 ¥ g T e) None of these
2. aft i e e giase HifST | 23. Insert the missing number of the
165, 195, 255, 285, 345, (?) R
a) 453 16)5, ! :35 255, 285, 345, (?)
a
b) 455 b) 455
c) 988 c) 535
375 d) 375
e) I ¥ &5 T e) None of these
\%%@?ﬁﬁaﬁqm, AW TR (IR 24. Which of the following is different (if
gan) ? any) from the other ?
& fFen — o, SRR — REUETE, Red Fort — Agra, Charminar —
STERR AT AT — GHTg, Ted ATE gfogan Hyderabad. Jahangir Art Gallery —
— ¢ feeeht, srrmrat Yo — g Mumbai, Gateway of India — New
: Delhi, Aghakhan Palace — Pune.
SRR 3T el — grars ’
Z) a) Jahangir Art Gallery — Mumbai
) v o — b) Red Fort - Agra
c) TG Y — g c) Aghakhan Palace — Pune
d) Ied 3T sfoean — =3 et d) Gateway of India — New Delhi
e) 398 ¥ &g & e) None of these

CGP-17-02# Page No. 11 Set-D
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25. 17200 3 18 @ fawifsa &+ | Ivws
1 8T ?

a) 18
b) 17
c) 2
d) 1

e) 3qUad | | &3 g

26. & FaTTE fug T &1 I 33 2 |
g 9 eI B

d) 15

e) IWFd H § HI3 T8l

27. F=ll 1 W H 20% HI f@e &1 IH 8 Th
=afda T 10 H 5 Tk 3719 T@lE Heha1 2|
Tk H T 1 Hed a1 8 ?

a) 20.20
b) ?0.40-
c) 20.60
d) 0.80

e) I | | HIg AL

The Vision

25. What will be the remainder when
17200 js divided by 18 ?

e) None of the above

26. Sum of three consecutive odd

numbers is 33. The largest number is

b) 11
(o =
d) 15

e) None of the above

27. When rates of oranges were
decreased by 20 % then a man can
buy 5 more oranges in ¥ 10. What is

the new cost of one orange ?
a) ¥0.20
b) % 0.40
c) T0.60
d) 0.80

e) None of the above

CGP-17-02#
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U GEad 28 ¥ 31 a% Freraffa e w
TG 21 39 991 & I dfsru)

N

8 12, [6)13

9 11 14
[ 5\

* TG JEE1 1 efRia war 2

» B forfara =1 wefdfa war 2

o g el 1 veffa e R

o 1 S o] @) gefdid war

28 T i & forerd farfirr e SN R T B 2
car 11
b) 9
c) 5
d) 4
e) I U & I3 &

29, mﬁamf@mm 3R S8H

a) 6

b) 7

210

d) 13

o) IwE § § FE T

39//Fr 8 e s S g 2

ﬂ12

b) 11

c) 3

d) 2

e) I § ¥ &S A&

3, Fr i e frfera e 3 S 8 AR 7
a) 2
bra
c) 5
d) 11
e) U H | g T&l

Question numbers 28 to 31 are based on the
diagram given below. Answer these questions.

Ty

8 12 13

9 11 14
L 8 X

» Rectangle represents males

- Triangle represents educated

« Circle represents urban

» Square represents civil servants

28. How many among the foliowing is an
educated male who are not the urban
resident ?

a) 11

b) 9

d) 4 ‘

e) None of the above

29. How many among the following is a
female, urban resident and aiso & civil
servant ?

a) 6

b) 7

c) 10

d) 13

e) None of the above

30. How many among the following is
uneducated and also an urban male ?
a) 12
b) 11
¢) '3
d) 2
e) None of the above

31. How many among the following are
educated male who hails from urban
area ? '

a) 2

b) 4

c) 5

d) 11

e) None of the above

CGP-17-02#
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_32./1039:1 120 & e & Tt "R, S 7

¥ ot fafora 2t € qen o foeeht oft
T 9T ‘1’ FT 37 397d7 8, ) =T 8
a) 3

S 4

c) 5

d) 6

e) 30 ¥ g &

33. FHI0, 1, 2 Q sATE SH ITeft HE@qu! &1
31eh1 &1 it el (37l Sl g &
Hehdl ) T AT R

a) 63 '
b) 91
c) 96
d) 99
e) T8 | IS &

34/ AR IN A H IR ITGT 2 | TE IS R 7
130, 126, 110, 78, 10,

a) 78
b) 110
or10
d) 130
e) ¥ | wig &

\95/P, QRS THEFH JTF AAH B
VEfF I W IFR A TEA T @S ® 7

) Q, R ¥ dehlet qTfe" TF 2
) T,PMRFIFATH R
) Q RINSHIHTATR |
a) P
b) Q

V:;f
e) 3 & 1S 7L

32.

33.

34.

35.

The number of numbers between 10
and 120 which are completely
divisible by 7 and which consist of
the digit ‘1’ in any place is

a) 3

b) 4

c) 5

d) 6

e) None of these

The sum of all the significant two digit
numbers which are formed by the
digits 0, 1 and 2 (repetition of digits
allowed) is

a) 63

b) 91

c) 96

d) 99

e) None of these

One term in the following series is
wrong. What is that term ?

130, 126, 110, 78, 10

a) 78

b) 110

c) 10

d) 130

e) None of these

Who among P, Q, R. S, T is in the
exactly middie while standing in a
line ?

) Qs to the immediate right of R

Il) T is exactly between P & R

) Qis exactly between R& S ?

a) P

b) Q

c) R

d S

e) None of these

CGP-17-02 #
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TS d1e 37999 & 36 U 40 dF & I 1 Study the Pie Chart and answer the
I questions 36 — 40 :

A > BIE ® & A — Printing cost

B — &S I Yo B — Cost of paper

C I @Es C — Miscellaneous

D Tafee D — Royalty

E_ e srad | E — Advertisement charges

F e o= &1 @4 F — Binder’s charges

\y./!ﬂ‘c’: I @H 3. 6,000, 99 g =1 @ 36. If the Miscellaneous charges are
| Rs. 6,000, the advertisement charges
are
a) . 9,000 |
\D’/ a) Rs. 9,000
B,
&¥.000 b) Rs. 27,000
C) %. 1,333.33 C) Rs. 1,333.33
d) %. 15,000 d) Rs. 15,000
e) T A FIE T e) None of these

CGP-17-02# : Page No. 15 Set-D
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y./aﬁwréwrﬁﬁs. 17,500, 99 T=&W
EaRCE

\ﬂ‘)/{;. 7,500
b) ®. 40,833.33
c) . 15,000
d) %. 750
e) 1 g #13 T

.ﬂﬁaaﬁm?ﬁmﬁmm%@#m

_}(ﬁaaﬁwwﬁ%@émm%m
F qed & FIH

a) 25°

y./aﬁmqyfﬁamu@ﬁma‘ima 97,500 &
el 30% 3Iwares &1 w9l e @ 99
T &1 T9] 8

_ \),)/s. 14,625
b) %. 5,000
c) %. 6,500
d) % 15,250
e) T ¥ I3 el

37. |If the cost of printing is Rs. 17,500,
then the royalty is

a) Rs. 7,500
b) Rs. 40,833.33
¢) Rs. 15,000
d) Rs. 750

e) None of these

38. The central angle of the sector for the
binder’s charges is

a) 36°

b) 64.8°

€) 54°

d) 20°

e) None of these

39. The central angle of the cost of
printing is more than that of the cost
of paper by

a) 25°
b) 44°
c) 90°
d) 54°

e) None of these

40. If the total sale of book is Rs. 27,500
including 30% profit on the
production cost then the royaity is

a) Rs. 14,625
b) Rs. 5,000
c) Rs. 6,500
d) Rs. 15,250

e) None of these

CGP-17-02#
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41. F=fafea & @ S et gy i
g ?
a) TEUT HAT (TTE) I A TITR S
b) #9 | &9 Fid 3T a9y § fasg =1
gfera &
/Hﬁ?@maﬁaﬁrwmaﬁwﬁ%
a g =T

d) Yu= g 33 72 "] wY FEEE
e) T A F1g A&

42,y arCEa e S e B €l 6 a1
ey
a) fifva 3 aigs
b) ¥9a |
Cc) TUse
d) Fhad
e) =TI

\43 SrdafF Fe
a) gfero gro IuTlia <t <1 Al @
b) ¥t WeFfd HATIAIRI &
d) ==ft 3uifla o =t =it e @
e) T & &g el
\Mmmﬁmmww
safFaal i ST & Fith
a) A i ITEAFRY B 8
b) ¥ GHETAT HT HHIY @ISd &
c) ¥ 3 %1 & vfa uTeRs et
@ §
QT weft
e) 30 ¥ 1S 7

The Vision

41. Which of the following is characteristics
of effective communication ?

a) to respond immediate to the
receiver

b) to inform the matter in minimum
cost and minimum time

c) to transmit the right information
at the right time to the right person

d) to understand the clues given by
the sender

e) none of these

42. For effective interpersonal
communication one must not be
a) Specific
b) Timely
¢c) Clear
d) Valid

e) General

43. Interpersonal skills
a) can be acquired by training
b) are inherited in nature

c) can be both acquired and
inherited

d) can be sometimes acquired and
sometimes inherited

e) none of these

44. People with good interpersonai skills
are required in an organisation because

a) They are more productive

b) They look for solutions to
problems

c) They have positive attitude
towards their work

d) All of the above
e) None of these
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45 FFe e H fug et g it gem | 45. The price of a cricket bat is reduced

gftorHt i &Y SR 10 % =2 fean by half and the resulting price is again
@ srfm g g g & fFaa reduced by 10 %. What percentage
wferera grft ? of the original price is the final price ?
a) 10 % a) 10 %
b) 30 % b) 30 %
c) 45 % c) 45 %
d) 65 % d) 65 %
e) 3WF H ¥ HIg g e). None of the above
46. A, B 3 C u% Ty et 18 f&F # 46. A, B and C together earn Rs. 2,700
2,700 ¥ UM &, A 3R C =t in 18 days, A and C together eam
10 23§ 940 ¥ =mTa 2, B 3R C fieiet Rs. 940 in 10 days, B and C together
20 fea # 1,520 ¥93 FHTd &, a1 C sl T earn-Rs. 1,520 in 20 days. Then the
29 &t =918 Bl daily earning of C is
a) 20 %. a) Rs. 20
b) 40 %. b) ‘Rs. 40
c) 10%. c) Rs. 10
d) 70%. d) Rs. 70
e) I9ad § § HIE T e) None of the above
‘}/QEF =afdd qd ) feen § 7 fo . =reran 2 47. A man walks 7 km eastwards. tums
o de g1y w g 3 .. a2 right and walks 3 km and further tums
O &g w1y W gea 11 Fr.Ht. =@ 2) right and walks 11 km. How far is he
e € O F WH A e w7 from the starting point ?
a) 8f& .. a) 8km
b) 3 f&.H. b) 3km
c) 6 .. c) 6km
vd"/S G R d) 5km
e) 1 ¥ &Ig & e) None of these
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ey : w48 -52:

forrferfan Fremt % Rrd A/B e 23 ) )
Frerel ¥ T SR @ e w0 TaTed
FHAEIWHE R 7

a) %ad | JAFATAG &
b) ae Il I7gHTHT B
c) | 3R |l srgmfa g
d) =1 | = || IrgaTg &l
e) J 14 Il 3TgHTa 2|

s

A) Tl B TS T |
B) ®1s @gdI S Ael 2l
e .
o) ) ST e T R
Il) e | s el T8 B

A) T I1 31 I Blewt G+t F=rl g&a
a1 fAfssa €

B) &t =t g et #|
e
(O ) F© FHIRI FIA B
Il) TS e TeHT 7= HHARI Tl

Directions : Questions 48 — 52 :

Statements A/B are given for the following
conclusions. Examine the logical
apnplication of the conclusions and decide
which of the answers is correct ?

a) Only lis inferred

b) Only ll is inferred

c) Bothland Il are inferred
d) Eitherlorllis inferred

e) Neither | nor Il is inferred

48. Statements:
A) All students are boys.
B) No boy is dulk
Conclusions :
I} No student is dull.

Il) There are no girls in the class.

49. Statements:

A) All employees except one or two

are slow and inactive.

B) All employees are old man.

Conclusions :
I) Some employees are efficient.

) Some old man are good
employees.
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. WU :
A) $D TefHal T B
B) w:ft urIeie HvE B
e

Qzﬁ ) |sft gy urere e 2
) @sft STgeht TRIEe FIE 2

5Y. helA ¢
BT e gaTeal 379 shael WA 8 g=ferd
g
A
) SRR carsal ufvem ® v=fera
Qo) &
Il) S gl ufvm | y=iia
B

/sz/wz

SR | $© g1 T W @5e 8| S
3wt | FEEr 2

frewd . '

Jy %o gHRT T aTEr §

Uy % gEl e e 79 #)

53. 59 U § §HY 4:20 ® 9 foe anwl 93
YT T It S o St HIoT BT

a) 0°
b) 10°
c)-H?
d) 20°
e) Ik | q IS &l

50.

o1,

S52.

53.

Statements :
A) Some girls are pilots.
B) All pilots are efficient.
Conclusions :
I) All male pilots are efficient.

i) All girl pilots are efficient.

Statement :

Homeopathic medicines are now
popular only in India.

Conclusions :

) Homeopathic medicines are
popular in the West.

Il) Homeopathic medicines are not
popular in the West.

Statement :

Few shops in the market have neon
lights but they all have signboards.

Conclusions :
I) Some shops have signboards.

ll) Some shops have no neon lights.

The angle between the minute hand
and the hour hand of a clock, when
the time is 4:20 is

a) 0°
b) 10°
c) &°
d) 20°
e) None of the above
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v §ET 54 ¥ 58 & fore fAdwr -
TH U H 99 UF | 3R || i FrarE i
s fofe o ot gmen S g 2 | =
T | gt 3w A |
a) If Fast | arp
b) afE Faet Il S Er
c) afRk=mi=mn=m A
d) aRTI7NamLE
e) IRIE 1T Il AW
54, YA :
AT o SH &1 T 98 § 719 o1¢
TUET 1 AT S B
HIIATET :
) THF & &1 BN Tid @re HEl
IFTF 2|
(b 11y = i FPrifa e o e
TH T S AT HESE FAT
Tt |

it

gfera 3 et &t aifed et 2 |

HEATET :

) TR it giormars & faems
FIR FeH I3 A1eT|

) gfcTE 51 1 a1 8 STEER FH &
fora farfera s =nfea

)

567 YA :
a9 G I @I T8
Fd B
amﬁmﬁ:
) T AT T =R |
Il) FE15E Qe =1 |

The Vision

Direction for Q. No. 54t0 58 :

In each question there is a problem in the
form of decision-making followed by two
courses of action numbered | and Il. Give
your correct answer from the following.

a) If only | follows

b) If only Il follows

c) Ifeitherlor Il follows
d) If neither | nor Il follows
g) If both | and Il follows

54. Statement:

Many villages face flood fury every
year in_the monsoon.

Courses of Action :

I) Timely evacuation of the people
is hecessary.

Iy The government should take
measures_to control floods by
building dams etc.

55. Statement:

The police harass the common man.
Courses of Action:

I) The government should take firm
steps against the erring
policeman.

I) The police force should be
educated for public dealing.

56. Statement:

The younger people do not look after
their elders.

Courses of Action :
I) Legal action should be taken.
Il) Old age homes should be opened.
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hdA

e 38 We gi-a & TR A e |

HIEAATET

l) T §f -9 1 TR 39 TlEH e
kb) TR |

Il) Shet STl T F W L o1 =R |

5 v

IR T I Fere ¥ i IqeT
Ft 37Tl 21

wHTIATE
@) |) SR S TR S o =R |
Il) SN T o AR 1 TR
Frertt 21 =ied)

o

11,13,17, 19, 23,2, 2
# 21 e HEAG & (7557)
a) 27 941 29
b) 31 @41 33
c) 31T4r 35
d) 29 TuT 31
Loy i & i
60. fr=faftaa soft
11,7, 20, 12, 38, ?, 74, 42
# ey wwm (7) 2
a) 32
b) 28
c) 26
d) 24
e) T8 | g AL

57.

58.

59.

60.

Statement :

School uniform is a burden on the
poor parents.

Courses of Action :

I) Poor parents should stop buying
school uniform.

Il) Schools can provide subsidy on
school uniforms.

Statement :

Trade unions slow down the
industrial production.

Courses of Action :
) Trade unions should be banned.

Il) Industry should employ persons
on temporary basis.

The two missing numbers (?, ?) in the
following series

1143 17,4928, 2%

are respectively

a) 27 and 29
b) 31 and 33
c) 31 and 35
d) 29 and 31

e) None of these

The missing number (?) in the
following series

11, 7,20, 12,38, 7,74,42is
a) 32

b) 28

c) 26

d) 24

e) None of these
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61.

Ife = afedi & @ v y@% 30 e H,
7ol v 45 fime #, del u@s
He 45 e # qon =eft v 15 e 4
fer 1 A Al € | o Gl T W™
At 12.00 fomr et B, A1 o7reht 2=
1 S TF G FS HUA 7

a) 9.00 AM

b) 7.30 PM

c) 10.30 AM

d) 10.30 PM

e) 394 9 g &l

62 \/1 7+~\ﬂ55+\[69+ v133+4/121

FAA
a) 6
b) 7
c) 8

5

e) ¥ | 13 Tl

n. 5 3
63. afz £ x3 x(27)" o7 qm@nw

3x(81)*
oM
a) 0
b) 2
c) 3
d) 4
e) T 4§ HIs &

61. Ifthere are four clocks, one ticks after
every 30 minutes, second one ticks
after every 45 minutes, third one ticks
after every 1 hour and 45 minutes
and fourth one ticks after every 15
minutes. They all ticked together at
exactly 12 noon. Then when will they
tick together next time ?

a) 9.00 AM

b) 7.30 PM

c) 10.30 AM

d) 10.30 PM

e) None of these

62. Value of J1 7+ J55+ 69+ 133+ /121

is

a) 6
b) 7
c) 8
d) 5

e) None of these

P 9" x 3% % (27)°

< =27 then value
3x(81)

63.

ofnis
a) 0
b) 2
c) 3
d) 4

e) None of these
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%m@ i 1 s, s
IEN &+ TS gsiy shi &Hdi
IR SIS 1 IR S92
A frEwm
b) urE+

c) G
d) s
e) IWFd H | FI§ A€

. F=fafae 9 @ = saw g gfsa
& e adt i 2 2

a) I Teh el Skl &
wﬂ%mmﬁmﬁm%
c) USSUINY e fganft weuwor 7 &

g ?
d) TS HEINOT Sihar T 9T ?
e) ¥ ¥ I3 el

%@mﬁmmﬁmﬁwﬁwmﬁﬁ?
a) wTEHTeHEaT Y
vbo/#fémm
c) diftra vregmaett
d) afssi = s
e) =1 hi ferepan

67/ Tl =1 gAa A9 &0 I8 T HE 9iRy
a) I AT
b) WIS FT ATHEA
c) & ur =1 # T e
d) T3 #1 =
»B‘)/gﬁrﬂﬁ%msqaﬁm

64.

66.

67.

The ability to and manage the
motivations, emotions and behaviour
of oneself and others results in
effective interpersonal skills.

a) command

b) read

c) write

d) speak

e) none of the above

Which of the following statement is
not correct about communication
process ?

a) Itis a dynamic process
b) It is a static process

c¢) Feedback is possible in two-way
communication

d) Message is the part of
communication process

e) None of these

Which of the following is not a
communication barrier ?

a) Emotionality

b) Conciseness

c) Limited vocabulary
d) Fear of superiors

e) Information overload

While listening to others one should
not

a) Respond

b) Evaluate the message
¢) Nod or shake head

d) Interpretthe message
e) Make quick reaction
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1
68. afd 3% —=(81)~" X (10)t = 0.0001

a9 27° (16)° &1 W w2
a) 16
b) 4
c) 3
d) 1
e) 3IulEd § A g &

69. =1 Soft § smeT U 2
1, 3 4, B, 15, 27 ;.5

a) 37
b) 44
c) 48
d) 55
e) U H B s A

70. U FHHI 1 X 864 H S9aL AT 4% i
THIH 33TAT 2 | 16% 1 &9 GH & (16
38 FHl F1 5w Tou W S=E=1 TRy 2

a) 864
b) 1044
c) 1235
d) 1425
e) 3ulgd # F F18 7

71, Ry X
0.0064

a) 0.256

b) 0.0256

c) 0.00256

d) 0.000256

e) IWEd | | w3 gl

=3/0.008 g8 x FTHH

1
68. I 3% = (817" and (10)® =0.0001,

then what will be the value of
2=2(16)° 2

a) 16

b) 4

c) 3

d) 1

e) None of the above

69. The next term of the following series is
R 15, 27, ...
a) 37
b) 44
C) 48
d) 55
e) None of the above

70.. On selling a chair for ¥ 864, Anil
incurs a loss of 4%. At what price
should he sell the chair to get a profit
of 16% ?

a) 864
b) 1044
c) 1235
d) 1425

e) None of the above

I
71. 1 —=_ -30.008
0.0064
of x is

a) 0.256
b) 0.0256
c) 0.00256
d) 0.000256

e) None of the above

, then the value
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0T 0 0

e uwm 728 75 % ol
e o = w1 sremee hifsie S ue weat
TR TR =5 1 I & 3R 991 &1 IR e

OATg B g9

60 o i
T 50 o
;E e 40 40 38
30 30 30
30 20
B 20
0 ] .
2000 2001 2002 2003 2004

72. a¥ 2001 W 2002 = sit= o™ &1 =T
fFaR ?
& % 109m@
b) ¥ 20@TE
c) T 259/ @

d) A
e) ITTd H | i3 Ta1

}%&%ﬁ%aﬁﬁmﬂﬁmaﬁwmﬁ
IR @ 2 ?
a) 1
b) 2
d) 4
e) I H § w13 T

74 Ot s e TR 9 | sl ger 7
a) 2001
b) 2002
c) 2003

Y 2004
e) I | | HIS Tl

Directions : Questions72to 75 :

Study the following bar chart, which
represents the income and expenditure of
a company and answer the questions.

Oincome  BEExpenditure

o
60 60
60 +
@ 60 50
g s0+4
3 40 40 i
£ 7 30 30 30
= 304
20
adl 20 4
10 +
0
2000 2001 2002 2003 2004

Year

72. What is the difference of profit
between the years 2001 and 2002 ?

a) ¥ 10 Lacs

b) ¥ 20 Lacs

c) T25Lacs

d) Zero

e) None of the above

73. In how many years the income of
company is more than the average
income ?

a) 1
b) 2
c) 3
d) 4
e) None of the above

74. In which year company has got
maximum profit ?
a) 2001
b) 2002
c) 2003
d) 2004
e) None of the above
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\/?/41 2002 # Frrfi 1 317y frg ad F =
¥ ae 2 7
a) 2000
b) 2001
c) 2002
d) 2004

OV 3 1 | Frd A

J{maﬁmméaﬂﬁﬁ%aaﬁwﬁé
30 H1. Iw-ufvem @ werdt 2 3w sa 30 1.
slav-afvan § wedl 81 aeavEmE, o0
Ziavi-gd fasn 430 #. e 21
' 39 9 ] G Hed! 2| 98 fFa {2
o a7

75. In which year the expenditure of

company is equal to income K-
2002 ?

a) 2000

b) 2001

c) 2002

d) 2004
e) None of the above

76. A girl leaves from her home. She first
Walk-30 meters in North-West
direction and then 30 meters In
South-West direction. Next, she walk
30 meters in South-East direction.
Finally, she turns towards her home.
In which direction is she moving ?

a) North — West
b) North — East
c) South — East
d) South - West
e) None of these

77. Which one of the following fraction
is the greatest ?
T & & 3. 2

8 10' 20’ 6' 20

i
a) 8 a) a
8

b) ‘1’
S ik
b) 5
c) *i 3
20 ° 25
2 2
d) == d) ==
) 2o ) 20

Wﬁ@aﬁéqﬁ €) None of the above
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I 78 — 82 & o1 -

A, B, C 9u1 D & qf= o8| & &R Gasqol
fare = arfees § fie o 2 | ol v
&7ar ufd 1000 g&w a1 9fd 1000 wfeemnsdi
=T FIERAT ST Wqa # |

The Vision

For Q.78 — 82 : Given below is the survey
record of areas A, B, C and D for five years,
each area having one thousand men and
one thousand women. The record shows
the number of literate men and women in
each area.

gar| \Ter | 2012 2013| 2014 | 2015 | 2016
98 | 739 | 772 | 803 | 809 | 837

A Hfgemd | 642 | 705 | 778 | 782 | 793
i3] 847 | 859 | 876 | 883 | 895

= afgemd | 700 | 734 | 821 | 845 | 851
q% | 838 | s68| 894 | 915 | 935

& nfeerd | 824 | 813 | 869 | 876 {908
qe 918 | 931 | 947 | 963 | 983

¢ Hfgemd |eas 908 | 852 917 [Jre2s

P T 2 =u
7
a) 72%
b) 73%
L 74%
d) 70%
e) ¥H ¥ s TE

79. 20129 2013 &l Qi 9iaerd § s
fraar st 2 7

a) 49
b) 8.3
c) 6.5
d) 2.4
e) S8 ¥ ®Ig TE

Areas | Literates | 2012 | 2013 | 2014 | 2015 | 2016
MEN | 739 | 772 | 803 | so9 | 837

A [Women | ea2 | 705 | 778 | 782 | 795

MEN | 847 | 859 | 876 | 883 | 895

®  [WoMEN | 700 | 734 | 821 | 845 | 851

MEN.| 838 | 868 | 894 | 915 | 935

© WOMEN | 824 |.813 | 869 | 876 | 908

MEN | 916 | 931 | 947 | 963 | 983

° _fwomen | 8es | 908 | 8s2 | 917 | 928

78. What percent of women of area A are
literate in average ?
a) 72%
b) 73%
c) 74%
d) 70%

e) None of these

79. What is the difference in literacy
percentage of 2012 and 2013
approximately ?

a) 4.9
b) 8.3
c) 65
d) 2.4

e) None of these
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80. IR &1 ¥ 39 U™ ani il afy § fohaa
yfoera gey va Afeem war 9 7
a) 88.84
b) 84.88
c) 80.88
d) 86.12
e) 378 9 =13 &l

81. ofrga fraw gfawra Tey @eR @2
a) 87.55
b) 55.87
c) 87.87
d) /85.55
e) S ¥ =13 T

g82. ¥ &3 8 g%y 9 wizanedi & Jrarar
Ty AU SE 2 ¢
a) B
b) D
c) A
d) C
e) T8 ¥ &g T

\;a/ﬁm%ﬁdﬁ wvq ¥ fean g 2@
=2l % T-quiEd- I9U=d Gl B ST
et fasea 94 |
5+ 3 x8—12+4 = 3 (i)

a) -9 +
b) +9 +
c) +9—
d) -4 x

ey & & wrd T

80.

81.

82.

83.

What percent of men and women in

the four areas were literate during
these five years ?

a) 88.84
b) 84.88
c) 80.88
d) 86.12
e) None of these

What percentage of men are literate
in average ?

a) 87.55

b) 55.87

c) 87.87

d) 85.55

e) None of these

In which area has the literacy rate of
menand women increased the most ?
a) B
b) D
c) A
d C

e) None of these

In the following question, the given
equation will become correct after
interchanging two symbols. Choose the
correct option.
5+3x8—-12+4 =3 (equation)

a) —& +

" b) +&+

c) +&—
d) —and x
e) None of these
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84 ‘< m e e € T ¥ fore A
3152 1 fasheq g+
a) Afasgi
b) Tu=z
c) 3ITdieat
9 foraeeret
e) $9H | &g A&l

88 ‘i’ & eh w2 2
a) feam wfy
b) I &Y
_oy =R EfY
d) et afg
e) T ¥ I3 T&

Bymi—cm’aﬂawf%
a) =R HEAT
Y TE &
c) Sg-THT HET
d) STt HET
e) T | FI3 TE
87/3#@%333@11?3%%‘13’ R 5 TR
Y B
& T % freg T w1 B
b) Tt awg &t oiyer =1 3 8
c) @ =Ml
d) <im gl
e) 3 | I3 &

z The Vision

®s,) ot i wefredt 3 et 30 s 1w
=) T HET ATAT R 7
A
b)
c) st
d) it
e) 9H ¥ IS T

88 s o it e w8 7
A
b) g&ui i =TI
c) T
d) TS

e) T7H ® IS Tl

90. Ufd ZIT. &Pl I3 9 ST FEATd B -
SHETE 9T H 7

a) IRt

b) femest

c) Bgd

d) AFTE

e) 90 ¥ HIS 7E

o3/ o o et et e 8
=1 o9¢f B
a) aftsm &1 %t TR I H e 21
) aftsm 1 B v fireran 21
¢) whem 1 wet Ff-aft frer 21
d) aftem &1 o W |/ faear 21

e) S8 | &I 7|
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90 et ik 8
a) T
b) Rafta
c) e

) ATHTE
e) T8 ¥ s &l

ga/ugmmﬁsﬁqm%
a) Heull
b) T
c) 3@
_Af T
e) $H | JIg Al
94 “fasmen” ford hed & 7
a) eI feat sl
_b) &t & it wig sforat &l
c) &<t e it sIw sferat =1
d) UF B¢ @ &3 # Micfie areft amw
e) 3 § 13 g

95. &1 3l i ugw @ I |
a) sfzafue
b) sfasia
c) T=RERI
d) sfsardia
e) 394 | FI3 A

z The Vision

96/ i it e o e @ w2 7
a) 0 FAHFEHA
b) W SfasTaTel
c) AT JfersrehTa
d) qui gfasaerra
B Y g

y./‘m’mﬁaﬂqwm%?
a) 9
by ®t
c) &R
d) ¥

e) 38 @ g 7L

08. fa=feifad & @ =TT wee ‘=SfFaa=s
31 A& 2 ¢
a) 997%
b). TISTHT
c) S
d) d&dl
e) T ¥ IS A&l

j{‘m’ﬁmm%?
A <
b) Je
c) A3d1
d) sr3an
e) S+

100. Wﬁﬁﬁmwﬁwaﬁm
[4

a) dr
b) TR
c) a&l
d) gad
e) T
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AN 0 OO O

INSTRUCTIONS REGARDING METHOD
OF ANSWERING QUESTIONS

T9AT & IFT 29 graee e

(Please use Black Ball Point Pen Only) (U1 HTE AT TTEUE YA T E T )

1. Method of Marking Answer : 1. 3T 22 &7 T

To give an answer, please darken
one bubble out of the given five, in
the OMR Answer Sheet against that
question.

Valuation Procedure :

There are five answers to a question,
only one of them is correct/nearly
correct. 02 marks will be awarded for
each correct/nearly-ecorregtanswer
and )é mark will be deducted for
each wrong answer. If more than one
bubble are darkened fora question, it
will be treated as wrong answer.

Handing over of Answer Sheet to
Invigilator :

(i) Please ensure that all the entries in
the Answer Sheet are filled up
properly i.e. Name, Roll No.,
Signature, Question Bookiet No.
etc.

(ii) Before the limitation of 2 Hours
duration while leaving the
examination hall, hand over the
question paper to the invigilator. If
needed, after duration of period,
you can ask for your question
paper from the Centre
Superintendent.

Care in Handling the Answer Sheet:
While using Answer Sheet adequate
care should be taken about tear or
spoil due to folds or wrinkles.

I A % Y ... IW g |
grafod g9 & 9 H 73 T utg mal |
A THadd TH e ! T HTeT HIHT |

. Heqiehd g :

Yedeh U & Ui geyifad I 8, 39
B T IO oE/EnET 982 | I &
e/ EE ST SRR i € 02 3T
TToq BT 9T Teld TR SAfehd FH T
Y, i =121 SR | Afe U | S e
et fohd ST @ 1 I8 Mot ST HE1 ST |

. IAT-vite Averen w6l wiaAn
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